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Sir Issac Newton College of Engineering and Technology-Nagapattinam
MODEL EXAM
Seventh Semester

Mechanical Engineering 
ME8793 PROCESS PLANNING AND COST ESTIMATION
Date:    01.12.2022                        
             




 Session   :  FN
Time:  9.30am to 12.30 am                                         



Maximum:  100 marks
Answer ALL Questions
PART - A (10 X 2 = 20 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	1
	What is meant by processes planning?
	2
	CO1
	L1
	2

	2
	What are the materials selection parameters?
	2
	CO1
	L3
	2

	3
	List any six documents that are required for processes planning.
	2
	CO2
	L3
	2

	4
	What are the basic elements of jigs and fixtures?
	2
	CO2
	L2
	2

	5
	What are the different types of estimations?
	2
	CO3
	L4
	2

	6
	What do you meant by catalogue price?
	2
	CO3
	L1
	2

	7
	What are the various losses considered while calculating direct material cost for a casting?
	2
	CO4
	L4
	2

	8
	What are the various elements considered while calculating cost of a welded joints?
	2
	CO4
	L4
	4

	9
	What is meant by machining time?
	2
	CO5
	L2
	4

	10
	What is grinding? Different between surface and cylindrical grinding?
	2
	CO5
	L1
	4


PART- B (5 X 15 = 65 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	11. 
	(a). What do you understand by CAPP? Explain in detail about the types of CAPP and Mention the benefits of  CAPP?
	13
	CO1
	L2
	2

	
	Or
	
	
	
	

	
	(b). i. List out the factors that are common to both materials and process selection? 

     ii. List and explain the various factors considered for tooling selection? 
	7+6
	CO1
	L3
	4

	12.
	(a). i. What are the set of documents that are required for process planning? 

      ii. List and explain the various factors to be considered for selection measuring instruments?
 
	7+6
	CO2
	L4
	2

	
	Or
	
	
	
	

	
	(b). i. Explain the various principles of jigs and fixtures design?

      ii. What are two basic quality strategies? Explain them.
	7+6
	CO2
	L4
	4

	13.
	(a). i. What are the different classification of cost? Explain? 

      ii. Distinguish between estimating and costing?
	7+6
	CO3
	L3
	2

	
	Or
	
	
	
	

	
	(b). A factory is producing 1000 bolts and nuts per hour on a machine. Its material cost is Rs.400, labour cost.  Rs.350 and direct expenses is Rs.75. The factory on cost is 150% of the total labour cost and office on cost is 25% of the total factory cost. If the selling price of each bolt and nut is Rs.1.75, calculate whether the factory is going in loss or gain and by what amount.
	13
	CO3
	L3
	2

	14.
	(a).  200 pieces of the bolts are to be made from 25mm dia of rod. Find the length of each bolt before upsetting. What length of the rod is required if 3.5% of the length goes as scrap.
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	13
	CO4
	L3
	4

	
	Or
	
	
	
	

	
	(b). Estimate the material cost for welding two flat pieces of MS 15x16x1cm size at an angle of 900 by gas welding. neglect edge preparation cost and assume cost of O2=Rs 15/m3 , cost of C2H2 =Rs 60/m2. Density of filler metal = 7gm/cc. cost of filler metal =Rs50/kg, filler rod diameter =5mm , filler rod required 4.5m/m of welding. Assume O2 consumption = 0.7 cu.m/hr. C2H2 consumption=0.5 cu.m/hr welding  time=30min/m of welding.
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	13
	CO4
	L3
	4

	15.
	(a). A mild steel bar 120 mm long and 40 mm in diameter is turned to 38 mm diameter and was again turned to a diameter of 35 mm over a length of 50 mm as shown in fig. The bar was chamfered at both  ends to give a  chamfer of 45  *4 mm after facing. Calculate the machining time. Assume cutting speed of 50 m/min and feed 0.3 mm/rev. The depth of cut is not to exceed 3 mm in any operation.
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	CO5
	L3
	2

	
	                                                Or
	
	
	
	

	
	(b). Estimate the planning time for a casting 1.25m long and 0.5m wide which is machined on a planer having cutting speed of 12m/min and a return speed of 30 m/min. two cuts are required: one roughing with a depth of 3.125 mm and a feed of 0.1mm/rev and other finishing with a depth of 0.125 mm and a using a feed of  0.125mm.
	
	CO5
	L3
	4


PART- C (1 X 15 = 15 marks)

	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	16. 
	(a). Explain the  Ladder diagram and cost estimating procedure ?
	15
	CO3
	L3
	2

	
	Or
	
	
	
	

	
	(b). Explain with an example about overhead costs and various bases used for absorption of overheads.
 
	15
	CO3
	L3
	4


	BT LEVEL
	CO1
	CO2
	CO3
	CO4
	CO5
	CO6
	% 

	Remember
	Q. Nos
	1
	
	6
	
	10
	
	3.33

	
	Marks
	2
	
	2
	
	2
	
	

	Understand
	Q. Nos
	11(A)
	4
	
	
	9
	
	9.44

	
	Marks
	13
	2
	
	
	2
	
	

	Applying
	Q. Nos
	2, 11(B)
	3
	13(A)13(B)
16(A)

16(B)
	14(A), 14(B)
	15(A)
15(B)
	
	69.44

	
	Marks
	15
	2
	56
	26
	26
	
	

	Analysing
	Q. Nos
	
	12(A),

12(B)
	5
	7,8
	
	
	17.77

	
	Marks
	
	26
	2
	4
	
	
	

	Total
	30
	30
	60
	30
	30
	
	100


	
	

	IQAC Member
	HOD / Mech
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